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Q.1: ghieallg Jrelb dolee Equation in Slope-intercept Mark(s): 5/5

Write an equation in slope-intercept Ll Juiaill adadally Jaall dipeas ddalaa i)
form for the graph shown. T gall

b. 3
y=3%
C.
2
y=—-x+2



Q.2: 2 dylss J> Solve Equation2 Mark(s): 5/5

Solve the equation: radalaall Ja
7=-11+3(b +5). —~11+3(b+5)=7
b=-3
a.



Q.3: bl Juieil gbliall The Intercept of the Graph Mark(s): 5/5

Find the x-intercept and ssaally X AN gaall Ga Cpahaiall aagl
y—intercept of the graph of the dliaall dukaall Allall At Juiaill y E,...uLIi
linear function described in the ol Jgaall L3

table below.

-3 -

—2 0

- 1

0 2
.y — intercept is 2, <2 5A Y saa aa alldl
a.i x — intercept is —2. —2 A x )saa aaadaladll
y — intercept is —2, (—2 38 Y )55 aa pdalail)
b X intercept is 2. 2 58 X aa aa adaladll
y — intercept is —2, (—2 5A Y a2 adaldlll
. X— intercept is 0. 0 54 x ) saa aa adalddll
y — intercept is 0, 0 358 y ) 5aa pa phaliill
x — intercept is —2. —2 X )saa aa adalail)



Q.4: dbleall J> Solve the Equation Mark(s): 5/5

Solve the equation 1 + g = 4. A+ g = 4 dlalaall Ja
r=-27

a.
r=3

b.



Q.5: dylw=ll ddliiell Arithmetic Sequence Mark(s): 5/5

Which sequence is an arithmetic Al Allina Jiay AdlEis @i

sequence?

5,10,20,40, ...

a.

-26,—22,-18,-16, ...
b.

18,16,15,13, ...
C.



Q.6: byuwill 4uols Distributive Property Mark(s): 5/5

Simplify 2(6x + 4) + 7x. 2(6x+4)+ 7x s
12x + 4

a.
19x + 4

b.



Q.7: wwwlidl J> Solve proportions Mark(s): 5/5

Solve the proportion: ralidl) s

3 b 3 b

8 10 '8 10
4

a. b B E



Q.8: diyliell Inequality Mark(s): 5/5

Solve the inequality: sdiliiall Ja

—11y — 13 > 42. —11y — 13 > 42
y> -5

a.



Q.9: jioll k) doleall J> Solve Equation For Given variables Mark(s): 5/5

Solve the equation a(q — 8) = 23 .q 2y a(qg — 8) = 23 dalaal Ja
for q.
i _%3 + 8
1T
a.;
23
LR
b. “
q=31—a
C.
31
q _



Q.10: yuleil yolg> Properties Of Expressions Mark(s): 5/5

Evaluate the expression el dad sa gl
3b(a® +5) +c, 3b(a®+5)+c
ifa=-2,b=6,c=2. €=2sb=6a=—-2 xilgj
—81
a.
o
b.



Q.11: Syl yu=ill Algebraic Expression Mark(s): 5/5

Write an algebraic expression for :&..Eﬂﬂ omaaill Gs et i€
the verbal expression: U5 o) A dsgia b e dagaia 20

"20 divided by t to the fifth power".



Q.12: dalbho]l deusll yulei Absolute Value Expressions Mark(s): 5/5

Evaluate the expression el dagd aa gl
—a+|2x—al, ¢ —a+ [2x — al
ifa=3andx = —1. X=—1sa=3 gl
-8
a.
—4
b.
—2
C.



Q.13: &Syall djliiel| The compound Inequality Mark(s): 5/5

Solve the compound inequality: rda$jall ALl Ja
6<r+7<10. G6<=r+7<10

13 <r <17
b.

1<r<3
C.

—1<r<3



Q.14: s>yl j2ill Direct Variation Mark(s): 5/5

Suppose y varies directly as x, and Xaabyh jahy ol Lalml
y = 72 when x = 8. i dlalaa Sl x = 8 laxie y =72
Write a direct variation equation LY X Ondug guh

that relates x and y.



Q.15: dbidillg Jralb ddleall Equation in Point -slope Mark(s): 5/5

Write an equation in point-slope Y pnicuall ddadilly Jrall dapay dalea IS
form for the line that passes —6 (Golaw dliag (—2,1) ddadills s

through (-2, 1) with

a slope of —6.

y+2=6(x—1)



Q.16: dilball dosddl UVoleo Absolute value Equations Mark(s): 0/5

Solve the equation |b + 9| = 2. Jb+ 9| = 2 Aalaal) Ja
{—11}

a.
{—11,-7}

b.



Q.17: puoz]l Discount Mark(s): 5/5

Tickets to the country fair are AED 20 5laY) [amal 55550 o ady

AED 20 for an adult and AED 15 for JARUAED 15 5 el addll

a child. If you have a 10% discount aS «10% Aswiy acad A8l dhial cuilg )

card, how much will two adult SNy € rad Al 0 SN LAICTL,

tickets and two child tickets cost? ¢ opalial
AED 60

a.

AED 77



Q.18: $jlgall pusiunall doleos Equation of Parallel Line. Mark(s): 0/5

Write an equation in slope-intercept padiciall aladally Juall direas ddalea i)
form for the line that passes aslicaall (Sil3ag (4, 1) adiill jas (g3
through (4, 1) and is parallel to the y=— %x L7
line
1
y=—,x+7
y=4x+2
a.
E ! + 2
Yy =gx
b. 1 4
C.
1
y=——-x+2



Q.19: JroJl The Slope Mark(s): 5/5

Find the slope of the line that Caihadill lal) anfiiall Jaa aagf
passes through the points (1,—4)5(2,—-9)

(2,—9) and (1,—4).

-5 g
i
1
b. 5
1
C. 5
5



Q.20: glbwell dislis Absolute Value Inequality Mark(s): 5/5

Solve the inequality: sddglaiall Ja
12k + 1| = 7. A2k+ 1| =7

(klk <-4 jk=3)
(klk < —4ork > 3)

(k| -4 < k<3)}
. (k-4 < k<3}

{klk < —4 s k > 3}
{klk < —4ork >3}

C.

{klk < —4 5k = 3}
4 {klk<—4andk > 3}



